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Test Prep 2

There are two quick solving problems on this page (all the integrals should be quick; if not, then you
made a mistake). If you finish this page, try the extra problems on the back (for an extra point). You
have 10 minutes!
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1. (Separable) Find the general explicit solution to d_?; =—
Y

Sol'n:
yidy = tdt
%y?’ = %t2 + Cl
y3 = %t2 -+ CQ CQ = 301
Yy = (th + 02)1/3
Thus,

3 1/3

d 1
2. (Integrating Factor) Find the explicit general solution to d—i + Y= t (You may assume t > 0).

Sol'n:

The integrating factor is p(t) = e™® = ¢. Multiplying gives

d _ 42
té’—i—y —752
a(ty) =t
ty :%t?’—l—C’l
y =5+

Thus,

_1t2+€
¥=3 t



